I1SO 14001:2015

ONET

- n
SR RONET o Y1900 12 YRR

51200729-5 9N

Enviromental Management System  QéAlfty Management System

Occupational Health :
& Safety Management System’

EDSP 2.00 n4199 noyn

: DY2Y97199 11N

J1 2,00 DYTHY MDY, 17D 50 2N1,170 75 N1 TN 1 1723 npyn in EDSP 2.00 npyn
. {2010) RAL nnawny 79w n1ya x1ann 1250 1920 NN 1pynn

YTI902) DWW 9IWA MIPNND T NPYN

7% NN NN, 200, (0 4.3) BAA NP, ' 1.90 T1INa NHYD MY Npvnd

L YPIPA NN DIPNM NPYN TINY

N/ AP 24,4 NPT VDN YPwn

0P 30- MWD PN OPTI

$Y2NY 01-02 /DN MNYILI DMX DMNMIN MIPY

oL b

s, &,

EDSP 2.00 npyn Sv mnonn »Mpyy : 01 nvav

I NN mmnn | D¥eann TPon N mpnn T [ on ann oxt
muannby [ vin MR
A W5 H1 'n &0 e 7s "o 50 EDSP 2.00
VIV 278D
RAL $1.1.120

m 60 TINA YUPY EDSP 2.00 NpYn Y 71100 N D00, OMIDY NPYN 51999 Nndw @ 02 NYav

Stofvarschraubung Profil A Stofiverschraubung Frofil B

Verschraubung Pfostenklaue

| | e Doppelten Schuzplanken {0DSP) wird die

| foatenklaue nur vorechraubt:

] . bal Abserkangen
| 'S D! ool St
< ! {
P & O
- : :
1e, |
>

Schnit: A-A

Schniu B-B

Verschraubung Abspanngurt

A - B

P @?40 30

s i e

Awt L pmB

04-8580778 : 0o 04-8580888 :510 3903001 Y1495 NP0 — 138 .9.0 1 NN

www.netivey.co.il : V39082 9NN  E-mail: info@netivey.co.il




IS0 9001: 2015 DHSJ\.‘E 18001 l" 1A ‘. l\
\/{8ﬁmE29i:5‘ VQON ET ON ET ?m:ilsy19nn 2 n: nnwo Nt nina

Occupational Health
Enviromental Manag Qualfty Management System 5 o . nagement System

\.'erschraubung D stanzsiuck {DDSP)
ader Abst lnﬂhailer (EDSP)

Verschraubung Anschiuf-L-Silick (DSP)
oder Anschlufwnkel{ESP)

04-8580778 : 079 04-8580888 190 3903001 Y1495 NPV — 138 .7.57 1 NNYHIYN
www.netivey.co.il : V39082 990N E-mail: info@netivey.co.il




/RONET

RBRET RONET mn Y190 220N

AL
)

NNWINTI Nin'b2

Qun Occupational Health 21200729-5. 21
Enviromental Management System Ity Management System & Safety Management System’
770 'on | nnd 019N ARN | Nn/Dnin [ ‘'on viILWY
N
RAL 2.00/1.00 15 nin'wa npwn 09 | S235JR EN 10025/EN 1461 L1.1-102/ L1.1-101
RAL 3.00 30 Nnao Tmy | S355JR EN 10025/EN 1461 P1.1-101
RAL 5.00/5.10 30 ?'nm | S235JR EN 10025/EN 1461 K1.1-201 / K1.1-202
007.00/007.10 30 Tmy tann | S235JR EN 10025/EN 1461 K1.1-401
008.00/008.10 15 nAiny ian | S235JR EN 10025/EN 1461 L4.1-101
RAL 40.00 90 Ny wrI N | 4.6 ISO 4032-5 B1.2-101
DIN + M16X27
RAL 40.01 30 Qv wr i | 4.6 ISO 4032-5 B1.2-101
nIN + M16X45
RAL 40.40 60 nwiwn i | 46 ISO 4016, 1ISO 4034-5
DX + M10X25
RAL 40.30 120 NNIVY Njo'T ISO 7091
RAL 40.60 60 nNIVY NRO'T ISO 7091
RAL 10.10 60 n1wa'm npo'T | S235JR EN 10025/EN 1461 K1.2-101

-
5.00(RYS 10L) - 8 00(RYS 10L)
r
3.00 3.00
t
W' NZNS NN (NN
o o
=pame_| = =2 = —
I A
T l 1r T 1
!
| |
I | |
NN NN NN/ NA SN AN ANANAN (NG
Tl': - ’!’
I I
+ ' W
1.w ! 1.00
IN_ 800

700 /

e

04-8580778 : 09 04-8580888 190 3903001 919499 NPV — 138 .7.0 1 HNYIYH
www.netivey.co.il : V39083 9N E-mail: info@netivey.co.il




/1Y
ABRET ABRET R0NET o Y1907 120 VAR,

Occupational Health
Enviromental Management System Q"'uw Managament System & Safety Management System’

+ NDIYHN Y2757 Y010 NN DPNN 127D DININ DIVIVIWN

NWHN VIVIVY: $1.1-120 'ON VIV
B nip , mmva npyn 09 : L1.1-102 /on 010w
NOYO TIRY : P1.1-101 /00 00V
HNPW/ Y N0 - K1.1-201/K1.1-202 1o 0100
nownn 9N eI :B1.1-101 ron vivaw
DN NTR NNA0H NPT @ K1.2-101 o0 vIvaY
o +M16X45 Sny vy 313,00 + M16X27 51y w3111 ¢ B1.2-101 00 010
NN NN : L4.1-101 00 0IvY
TINY 9ann : K1.1-401 'on vvaw
EDSP npynb nwby : S4.1-120 op viow .

L LN TR W

—
(=]

Euro ET13 mon myar mow nsp n i  RAL mpynd EDSP 2.00  npyn 122 1250 2y0p Dopsn 1902 DXIAN DW010Wh
. DWNMN P DT 51N NPYNY,

NOVORAIL 1.33 npyn5 EDSP 2.00 yaayn : PA-1053 ron vioqw

NOVORAIL 2.00 npyno EDSP 2.00 a2 93yn : PA-1040 ron vivaw

ESP 4.00 npynb EDSP 2.00 npyn 2 7ayn : S3.1-125 ron vionw

ABC TERMINAL nyp ypnn> EDSP 2.00 y27ayn : PA-300815 ron voaw

EURO ET 13 nyp nmnod EDSP 2.00 yanayn : PA-50716 'on vivw

.NOVO CMPS 60-2-W3 ooynowx pn vay EDSP 2.00 yaayn : NH-MPS-2005 'op vivaw
o3 npyny EDSP 2.00 panavn :83.1-120 ron vivw

.oa P 70 EDSP npyn m1n- TL-SP 99 'on vivaw

[N - N T NV N

04-8580778 : 09 04-8580888 t90 3903001 91499 NPV — 138 .9.0 1 ANYIYH
www.netivey.co.il : V390982 990N  E-mail: info@netivey.co.il




A

\/{Eo) ﬁoﬁ%s‘ R‘(S;lgﬁ’ﬁ‘,’f: . /{8’N Ié‘-‘-j}r ‘ n"u2 Y-Ignn l:‘n] nr&%!n'm

Occupational Health
Enviromental Management System Quality “l.!'ll__g!!'l'l!l'll System & Safety Management System’

NIPIHN NN

1 NP9 N1PNIN

TROID NP PPN DYON INNI ININND PN MPRN-NNS YNNI /0TIy 50 YU IMYRIA 121D NTIAY NNY T YN MNVIN DPYHD PN
I)MIVN VPN NTNDN DPNND DNMINY DIPYON 1IN WY N

0N, VIV SY DNIANA KT PPN DYON MPHNN ANE 3N¥IY DYNNN NNN HY MRNN NN MPNNN NN W DPRY NTID 92PN Y
207917 ONNNA 7772 MTIAY N0 DN PO

18719 NN TAINH Y MNIIND DRIN MPRNN NN SV 71HRY NI 1PN 0¥on n1avn 5mn 2y

PRIYA MPON ,PNTI NRID) ONYPIP-NN NPAVA NPNNI NYNII T NV NP NPYRN YY MPRNN NN D NTNY \2apn OYLN NN Sn Yy
(1) M

UMD 8 9y N9y MY, NYDSHN M9 YK, NTPIBN NOWN 1IN NN NTIZ ¥, NN NOW AN MNINND 1PN NIMYIN NPYN DNl DWOPA
07911 19 5Y 1DYVR THDIY 13 IN DPNION TN NYIIT O DY NPV RPN NIN-PIND DYPNN

NN NYID Y9 191 INTI2YND DTV VA IN I9Y DTN NDIDY, DIDTIY DIII9 INNND 117 172PN DYOH MPNNN INY

MNP0 1995 %9 Yy NN NTI2YN TONR NMY 23N 22PN OYLH MPRNN AN

%N W AN53 NHODN NOY NPYIDN N2IYH DNWID DOV YN PR

PN YW NOR0IN MPN DY MNYHPHN INRT PN NN SV 1N NN NIPNK VIABNK VD DI

N

=+ i

=

“ G 9L L

:IPNNN NYINY NTIAYD INN M

T2 297991 TN YN 93— 29910, DYON, 00)N- T1T1 DWHNYLN NN 1207 D210Y DM NYDMHN DINNA DINNY DHPYHN 1270 D0
DTN DININ 009N 9 NN 711 DINNK ANSY TN Tapnd Papn Dy

ANWYD ANN UMY IPMNY NPYHN YOPI IMI NOW NTID Y15 NYMTN NPT ¥81D MOND NP1 DY
NTI2YN NRSWN 5Y PRI ANTY 1R N3 NN APYTI INND P, VN THYN 70 IR NN v

N

51.33.01.07.03 N5 NN Y MIPNNN 1993

Npanb wn W NTMIY 2N DY NPRY TINL,NPYRN MPRN 1P NN 1B02 123pn DY
YNNN PNIMIY BNNNA NPWEN Y09 YW N1215) AN DD VLR NNVIAN TIN, MPANN P TNND NPYHN 22237 AN 102 23PN Y 112900 INND

29311 PRINA PR APYIRN NP, NYDHN 19 SYn N1 75 NPYRN YV 1PLY D1, ONNINN MY NN NN DY DTN TN YPIPI 1Y NPYN M1y
JAM0 3+ HIMIKN N2 NNPOD,IYHNNN PO DYTPNN

VNN PO DY NYNIAR 03090 NN 930 DMPNA 9% DMINN D207 NPYNN Y03 N215INA Twinny 12apn Y

201903 PYPH ML, DN NpeToy M16X45, M16X27 ovnna ,om npot oy M10X45 on1a nawa yaas npynin 229 192 20N

NWATY AV BY NPHY TIN, NPYRN TN DIDON NTHXN NTND ¥.118 0190 29 NPYHN ¥2¥57 92 125M0Y R1N2 \2apn DY

P 4+ 21 5Y NYYN NS NPYRN STINY P2 NN MO0 ¢ MPNNA MYIP NPV

TN VN 12 999 e+ 30 HY NDYN KD NPYRN Y09 N DMNIY DIPRY NIV NNOD

0790M YINN MIRIN 202 DMPHRY 0127 DUIND NS 1) DMINN DXIN NPT, DMIIN Y MNP N 2apn 2y

9 591 1971 100-1 AN N9 PIVAN NYPN NN . PRYP MWANN NPYHRY 12YH DTN NP 1PRI/NND DTN 0PRDNY NABN NPYHR Y mipnn 93
PPN

W

NN N

o

; DWW DY

: DINAN OYWIHN MNAY DWNITT NPYHN MPNND

DYDY MPNNY NN

DWW DA NN OYOIT NVTNN PYIHD

DTy N

DNTPHD Y R 23 7Y PNTPHL

923 MNNAK BY TON-1IVIN 140 TV VINN— TH/NNAND
.0 'ohs

125 ¥

Ntk W

04-8580778 : 09 04-8580888 t90 3903001 Y1499 NPV — 138 9.5 1 NNYIYN
www.netivey.co.il : V39983 NN E-mail: info@netivey.co.il




/{ISO14001:2015 \AISO 9001:2015 /{B&E‘if‘ n Y-'on-‘ l:‘n] nnu,g,m ninoa

ON E T ON ET \ 51200729-5 9.1

Occupational Health
Enviromental Management System  QUality Management System o-c o e ment System

NPYNN NI 10

: D290 NOMI

5y YN 99N MNINAY 7D, DYTIRYN MPHN NNON PN IDMNGY MPNNN P2 TIne B mmp ,mnwan npyn v mpn nnnnnk 2apn sy N
200 5Y 10D NEN MNP

AN MPNNN PP TIHD FPNNN PIDA NP AN O 172PN 2Y

.D¥TI0MN P2 MYIHRN AR YDIP N¥P 991 D NIND P PRIBN . 1PN HPNZ 021N NPYRN MNP MEPL 02720 N
SMPANNP Y DY 132,710 NY 0 4 DY PRNN DMINND D¥2397010 TN D2 NnD v

B. 99779 oy npyn np 1

DNBY /PR DPININ 2

NPPD ITIDY 2

TPNNN NN 1

Y Prnn 2

DM NPPOT DI MDD Madn

N R T PR SV £

DRy MPNN .2

W DINND DIPRN D52 270 ININKDD T 19IND NPRTPN TN TN NI NN MIAPY TNN PR, TPOAN DTN OY NN NIWHI VIR DY NIpRa
23N NEPN N 0.5 MPRNN NNDHN NN 3’3‘15

L(DYT1YN P2 NMNIRN =101 2.00) ©INN 11 PHANS DRNNI MNM0IN APYD MNP TNND PN TN NN AN YN 12190 2y
511H0 DANN 71T NVR DAY NNT PPIH DIMNAN DITTIN NN 2PN NN JY NHNNT 1PN DITIVYN DIPD
LNOWUN M8 5N PO 70 N21 PV I DDNONT W IPNNN 1P 2Y 2891 110 D TINYNWD

S5y ,5wnb |, N9DRNN NPT NNV 1INT TINA DY) W1 101N N INWDD TInY DN 921N 2800 DY¥TINYN 2 DY 029 MYNHNI — NTID \22pn DY
95 LY ‘1)‘731‘1“1 172 2 1DNIND ININT WY POIND 2R YN HY 1T NI NHOD Ywa SIVAN 1N 12T DN LODIN 280D ImN PNOY papn
JINTPH MYSHNI DPYLN nm-; 59 DMINN DI 5¥ 190 NN PPN NAPAN PINKN DMIPRK DY TIY NN O NPBN NP

220 TinY prinmn Mah .

.navw o M10X25 »37a2 mysnNa 1INk 1mpna Tnyn Prinn /oan NN NN 2apndy N
2w 0N M16X45 712 myaniNa 1ping 1mIpna P nann nR 80D Papnby A

NNN DD NN .

SN0 N D0 10 DN NNY T IDNRD TIMND AR AMNY Papn by .1
MOV Na»w pnann 0 M16X45 112 mysnia P nan pion np anaan .2
- 10 9Py NN VYPAY

CTIRY2 NRYRN MNP NN .

NPLYON MY DY BINT W2 1NN NN .ANPN PRI AN DRANDY PNIDN NN 210 P> ANPI DXIINONNY T2 NPYON INP DN N2 21PNy N
A0MBNI PPN PN, bnv TN NNN NP, PN MN-TPTH NP . NPPOTH DY DIND NN m:mtn PYNIM ANPN NN T

MON NIPA/NMN NPT : NIPNNND NPT .

.DPNIND D220 DOW NTND ¥ NPYHN MPRN 010l
PYIRN AN YTND INOY 12290 YY1 DN

MPNNN NN NXR ONIN JPIINY NPYHRN YOPY R vy
(NN M3 HY DY ND YPMINN NPYRN MR NP

SNNA0R 12 995 pn 4 30 NPYHN Y09 INA DITIDY DIPHD NI20ND NNVD DM £ 21 NPYRN MTINY MY P2 MDA YIDND MDY N
D10 £ 3VIDNN NPYRN DN ANVD A

21 12 TIND 910 3+ wanh Hapnn 1PY DR NITMUNN NPYRN TIBY POD )

S 12 TN RO+ 3 vash Dapnn iph onea NN NPYRN 1P oo 1

J0MD & 2 2897 1PN NOWY TIHYN YR AMVD. NN PN NYNRY (°90 - NI NN 28N NP NPYRNMTINY .0

NPT DAV NPYTAN INYHN NN DIV W

N

S0n b

=

w

o

PN

04~-8580778 : 09 04-8580888 t90 3903001 Y1499 N9V — 138 .19.50 1 NNNYN
www.netivey.co.il : V3902 Y9N E-mail: info@netivey.co.il




RONET RONET ,RONET /mn Y191il 1210)

51200729-5 an

Occupational Health
Enviromental Management System  QUAIRY Management System - Safety Management System’

]\
VA R

nnwa X ninwa

oM 1N 7

L1122 TAMWUNT YT OPTRY 2 DIMN-TH BY NNSH NI DN IR MY N
:TININ N2201N MM DNNNL YR VIMID T OY ANJK MYYHNI DA PITH A
: DM PITNY NN
2790 VININ MY VININ AN No
90— 101 140 ORI 70 M16
JUP— M 17 90— VM 10 M10
: NPYRD MNP .8

DMEP DUN (IR NPYNRZ 1280 NN IN) N8P 1PN/ NP N 0»RENY 12N APy Y mpan b .1

- T252 PYINA NI2) DINTIND NVY MNINI 1IN 2 4 TN MINIPH NP NP WIDW | 900 12.0 MR NSPph DP TN .2

- IYON THDMIW M N LFANI97 JNIBK 2N NN NYAPI NIML MINPH N¥P MDRI WIY

DIPI MAYN NN D217 BN 0PN VYD ,{(YPIPN 5Y NI NPYRN BPD) NIY XYY NP DT WHNWRY PR ,YPIPD Npwan mMEp Nk 200 N w3
. OPMIAN DN DY NN, YN

DNND INND PPN DPINN . 9

222 NPINN YNT PN NpYRn
TINNN DN PN
ANIYPNST VP N DR 0), MINNL DIANYD PNV PN PN 92 AN P09 Prav v N
DNNDND DNV PV DIPONI IN D1 TN VI WanNwnY PR .2

TN NPV MIPRN MNDD MY YNON PONDYY MHNMPNn )

1
2

04-8580778 : 09 04-8580888 :50 3903001 91995 N9*V — 138 9.7 1 NNRNIYN
www.netivey.co.il : ¥39083 9998 E-mail: info@netivey.co.il




/1Y
150 14001: ISO 9001:2015 OHSAS 18001 4 10 . l
AR ONET VRONET RONET | am Y1917 1200 am

Occupational Health
Enviromental Management Syst Quality Management System & Safety Management System’

NWHRN MPNN NN VIS, 10

(RAL 3.00) /11 1.90 : N202 Ty
1 2.00 OYNHNYN P2 NN

1 0.62 : THNY MPNN NN

v I BERR vh A (6]

PNIN = ¥125N 11 Tnyn PRIn

P 435 WALNN NIPNN

YTINYD TNYN DaN NN 9N

: MYNNNI NPYRN

313y (RAL 7.00 ) vy 9ann
PYNa, 0N + M10X25 nvivn
(RAL 40.40) 4.6

(RAL 40.60) 11 nMvW Npo>T

P29 DRNNA PPN NN PN
YN
"0 5 1Y MMN NNPOD

NPYHN MNP P2 NN
6 MY¥NNA Y2 (B nmmp)
4.6 pyina M16X27 972

18 nmovv Npo>N (RAL 40.00)
(RAL 40.30)

‘!

DY MNPN NMaN Y Dapn v
YNNN P

04-8580778 : 079 04-8580888 t90 3903001 195 NPV — 138 .9.0 1 NNYIYH
www.netivey.co.il : V390N 9NN E-mail: info@netivey.co.il




s i
: IS0 9001:2015 OHSAS 18007 _’:" ' Y i. l\
RONET RONET RONET /omn YIIDEN 221 it

Occupational Health
Enviromental Management System Quality Management System & Safety Manag Systom’

MY YNINN PPN NVYSN NN
RAL ) 5y np nmabn nport
(10.10

4.6 PN M16X45 51y WNY 1N
18 hmov npon (RAL 40.01)
(RAL 40.30)

T97 1250 NPT BY 312N ©IIN
NPOYT MYSHNNI IO NNPN
.ONIN DN NMLY

MY YNINK NPYRY M NNN DI NN
4.6 pvina M16X45 Hny winy 312
18 nMmow npo*h (RAL 40.01)
(RAL 40.30)

JYIY ¥NIAN NN 12107 ¢ Papn v
DINMIN PTNDY NYRN TN

2 %7 DY YRIANND YNNN 09 NN
4.6 pyn M16X45 3712 92

18 pmvv nporT oy (RAL 40.01)
(RAL 40.30)

NPD DY YXINN D09 NN
nyon

04-8580778 : 09 04-8580888 190 3903001 Yn99 NPV —138 9.0 1 MNIYN
www.netivey.co.il : V39083 NN E-mail: info@netivey.co.il




@ | 1S0 14001 2004 OHSAS 18001 n"“: Y19nn l:'n] . l
G RONET R0 l

nnwo N nina
N ET 512007295 1
Occupational Health

nstmmm, s, .,,.‘

Sy stem

2)2V VYN

04~-8580778 : 079 04-8580888 +910 3903001 Y1959 N9V — 138 .7.9 1 NNYIVH
www.netivey.co.il : ©V39VN2 9NN E-mail: info@netivey.co.il




RAL-RG 620

| || 1] ||

[ I I L | 1

- _..@_._.__._._* T 4 i et i$ ........... e | e — —

L L
1 I

NN NS ZANZNNY,

2

1 1,00 I 1,00 |
| | 8.00
| 1] I yd Il |
T [P U7 o L} o 1
g0 g0 'R
7.00
0 [ 0
| Il 1 |
i . | 5 |
[ 1 il |
2,00 2,00
|
4,00

1.00 ~0,40
5.00(R)/5.10(L)

@
g
J
o ! 2
° ! 3.00 °© " 3.00
I~ =g
|
2 i
NN | NN NZNNNSZAN
LI =
‘H;
|
I
Verschraubung siehe Zeichnung Nr. B1.1-101
Analog TL-SP 99 Zchg Nr;j81:1:420 Einfache Distanzschutzplanke (EDSP) DIN EN 1317-2
Zeichnung Nr.: 2 Stand: 03/10 PA2,0m
H1-W5-A
Giitegemeinschaft Stahlschutzplanken e.V, Profil A: 26.4 kg/m  Profil B: 24.4 kg/m




RAL-RG 620

B e “A’® uauedznyIs|yels yeyssupwabang

L1.1-102

€¥26¢C

m 00°C IN IISL OL/E0 PUBIS L -
— g |i01d Wioyusyuedznysg ¥ Bl R
_.|I_<|£F_ 20117 N ByoZ] - A
yayuaqd Jng -uayasnzue Bruemyois|b sie yoiziespunib puis BunyIoEZIEsSNZ
.0¢ Zuels|o) 3UYO JaPO JW SW(OH "yoSlpapiopa pusbuimz yoiu BunysoT (g,
i !
(=2} 93]
= /I? m.” S O w .N_w+ LW GgH UOA a)aIqUUaN SUid Jne Yois usysizaq
&9y LLV'OFE &6y |® 1500} N3 NIQ uoeu sspueg USjWIOHSA JUDIU SSp USZUBIS|O |
i ‘uswiousBine zuels|ojusyaigpueg aip pAMm usgey usssip Ul (1.,
w [y~ © w
o~ = g 2 o~ =
3" W&@ .‘._.m.v _N.w H 3% @Q ® L4
] g
> 2 | 2
o X ¢'0F Lo S0 e
&8y ; 1 &6y _ Lo 44 o : , e | @
! 5'078l =|= i 6
FGL Z¥SL e m"uxlﬁlnuuw I
RN i J
GF 9SUavy-A %\ ]
a9 Auges VY TS Bunbaiquaing Z y_yezulg AHeyiezury X #ey|szulg
_lllm
_
o5, 00€%
oor00€
1¥02¢ L¥022
1#=0Le L¥0Le
| oy =
, p € v
S Y - _ + il ]
m % = = e —  —  —  — - o g o — S ————— e B i s e R — - —— s — - ||.v..u_£'|in| %m
B SWFLO] | & X{e} | -y
ydassyan . udoniiaaun
T|< -
F hN-NﬁDDD _\
=9 ZFEEEL
Z#000¢
TFL992
2.2*¥000€

Z#000% ev0s 1




RAL-RG 620

= | 1577

+ 1+ o

!

+1 ] |+ O N 52

+1 Il |+ K3 o & v P
| | : 3
| | {3
| | ,Lff‘,_._‘é S
' | | {
! l
| I A A
| | 243
| |
l |
ol | k) Schnitt A-A

— — T iy b — I — _— _J
I | 26 +1
I I
| |
| | 7
I | ~ 4,2+0,18
| | LG S
I ! 7| 4572 A
[{s]

I | B
| |
| |
| |
|

Zusélzliche Geldnderlochung

(Tell NI.3.73/3.74/3.75)

11205

50

18+0,5

Toleranzen des nicht verformten Bandes nach DIN EN 10051

beziehen sich auf eine Nennbreite 228mm *40'2.
L Teil
1900 3.00 3.73
2300 3.01 3.74
2500 3.02 3.75
2
1500 3.03 -

Analog TL-SP 99
Zeichnung Nr.: 103

Zchg. Nr. P1.1-101

Stand: 12/04

Pfosten SIGMA 100

Tell Nr. 3.00/3.01
Teil Nr. 3.02/3.03
Teil Nr. 3.73/3.74

Giitegemeinschaft Stahlschutzplanken e.V.

Teil Nr, 3.75

GOTEZEICHEN

RAL

STAHL-SOHUTZALANKEN

P1.1-101




RAL-RG 620

A¥syezuig

|
VFLE

S'0F g1

%]
>
N
B3
e o
1]
|
¥ g2
£S5

8- Bluuos

00°S "IN [F=2L

“A°3 uuEIdZNY2S|YRIS BRYISURWLENg

Bunuyngsny sjyoal JS)eypuURISqY

SR Z4L =N Bunuipiez

L02-L'1) "IN ‘Busz] 66 ds11 bojeuy

"Z10% WWE UOA SyoIpuuap

aue pun N.M WWSEH UOA S)I2IqUUSN SUI2 JNe Y2Is usysizaq
LS00L N3 NIQ UOBU SSpUBg USJULIOLSA JUJIU SSP USZURISIO]

‘uswiwouaBine zuelsjojua)2IqpUEY SIp PAM USSB|A Ussaip U] ,

%hmm
—— e — = - 7= _—
e T | | ~ __ MllLMﬁﬂ l.u_full
T < e A e
L | ST |
e 1 o | |
o -
i i~
53
= = mk
1¥ 06 ZF 061
S1¥ 08F
S'LF Gy
g - | 891 S S'LFYS
_ :
z = = 1 =
_r 11111 . i s
- » 1
_ @ _
- F _
=} | .
= |
AT~ %
& | i
i i !
I..r.\\ _
3 X !
| - | s - - e
TN S e L EREsE
g l‘_ _|'. v
I 1700
eF 06

wwg~ usipey ususgababue yoiu sy

S'0¥ Bl

X IeyjPzua

E¥06

[73 FLE

w

L §
0El
Lot
el

L, _

=
2 & lz7g7

¥
-1
1N I

k

V-V Bluyog

|
|

K1.1-201



RAL-RG 620

NEDONLZINHITIRYLS

“A'® uuerdznyosiyels yeyssuewabang

0L'G "IN IISL YO/ZL ‘PUEj;
Buniymisny syul| Jejeypuelsqy . il i
N3IH21323.102 Z0Z-1' 1M N ‘Buyoz 66 dS-11 Bojeuy
"ZL'D F WILUE UOA SHOIPULSN
aue pun N.Nv.+ WSS UOA S)i2IqUUaN Ul IN.e YoIS uaysizaq
15001 N3 NIQ YoeU Sapueg USIULIOUSA JUDIU SBp USZURIS|O |
‘uswiwousBine zuels|ojuS)iaigpUEg aIp PAM USgely ussaip U ,
|
‘Wwg~ uaipey ususgabsbue jyoiu sy ) _
|1
=01 ‘ “ |
_ o i
™ 1
| e 2
2 i - &
& — e | U ) I D S S—— SOF8L I
[
[~ o0
VS ErAE] oy _ " X yeyezug
ZF 06} %06
S'1¥ 08
€06
e S'\F Sy |
ZFIg €L S1F¥S v 8oL | g £
A |
7 D [P e T
rp ||||||||||||||| N . W e | Tk u
| H [ "}
E | sy |
[ |
lis S'0%glL =
= [~
B ;@ i E : 5
PRy P o, B = !
| L)
Z¥3Z Q Mobr _ f E \
bs o x X S
e ree-——— e B e e S . S S & L
w e —— T LA
K v — 8 L]
=gz
L) =
V-V BIUUOS L

g-g juyas

K1.1-202



RAL-RG 620

[ebngynjuosuy Bungneiyosisp

(ds3)umgniyasuy Japo

{dsQ) Moms-N-gniyosuy Bungneluosiap

(dsa3) eyeypursqy Japo

oo'e
oo'or
00'€
00°L

g-g Buyos

w e e udyue|dzInyos|yels Yryssuwabang
T OL/E0 spuelS .
oz usuopnisucy| Jap Bungnesyosiap g =N Bunuysiez
_ﬂ_ L0L-118 N Buoz 66 dS1L Boeuy
oeor L0°0F
unBuuedsqy Bungnesyosiap V-V RIUYDS

090 ™ 09°0% ™

g [yold dS3 Bungneiyosieaus)sold ¥ |U0.d 4S3 Bungneiyosieausisold

00'L

@ 080v
oF'or

e

uajsojdyoalg 18q -
uaramneg jne -
uabumjuesqgy 1aq -

JONEIYISIDA JNU SNE[YUSISOId
aip pim (dsq) ujueldznyag ueyeddoq log

(dsaaq) yemszuesig Bungnesyasiap

anepjuslsold Bungnelyosiap,

g |uoid Bungneiyosiangolg ¥ 1401d Bungneayosiengorg

B1.1-101



RAL-RG 620

Teil Nr.10.00 Decklasche M16

115 +1,5

40 +1

+1
2205

Teil Nr.10.10 Decklasche M10

i

|
1810,5
@L

T

e

|

|

115 £1,5

40 1

12405

Teil Nr.10.20 Decklasche 2xM10

115 +1,5

12205

30 +1

Decklaschendicke 5mm +0,5mm

Analog TL-SP 99 il Kaion

Zelchnung Nr.: 120 Stand: 12/04

Decklaschen

Giitegemeinschaft Stahlschutzplanken e.V.

Teil Nr, 10.00
Teil Nr. 10.10
Teil Nr. 10.20

GOTEZEICHEN

RAL

BTAHL-SCHUTZPLANKEN

K1.2-101




RAL-RG 620

ooy

[#Bnggin|yosuy Bungnelyosisp

(ds3a)Eyumgn|yosuy Japo

(dsa) ¥oms-nN-ynyssuy Bungnelyosiep

(dsa3) Jeyeypuelsqy Jspo

m A usyuedTNYIS|YRlS YEyISURWEbaNG
DT - 0LIE0 :pugls

75 usuoiynIIsuoy] Jsp m::n:m»:om._m> 8 N Bunuyoiez
_4<m_ _ L0L-1'1g uN Bz 66 ds-1L Bofeuy

L]

@ oo

usjscydyoa)g 1eq -

ua)iamneg jne -

uaBunyuesqy 1aq -

JqNEIYISIBA JNU SNB[HUSISOLY

alp pim (dsa) uayueidznyog uayeddoq feg

. /maﬂuA o= v
. | [

- o =l

g |V

unbuuedsqy Bungneiyosiap

g9 puyss

0907 ™

V¥ BlUyog

08'0F ™

(dsaq) »emszueisig Bungnelyosiap,

anepjuslsold Bungnesyosiap

g |uoid Bungneiyosiangolg

V 1304 Bungneiyosiaagolg

B1.1-101



RAL-RG 620

. '@ uayue|dzanyasuels yeyssupwabaing
g 01°8 "IN 12l
70/ZL PUES
s L1} 7N Bunuysiez
00°8 "IN 1121 sunBuuedsqy
L0L-L7T N Buoz 66 dS1L Bojeuy
NIH213Z31092
- g'0F WG UGA 24aIpUUSN
auIe puNzF WLWQ, UOA SHSIQUUAN SUID JNE UOIS Usysizag
LS00L N3 NIQ YoBU S3pUEg LSJUWIOHSA JUOIU SSP USZUBIB[0)
|
&+ 000
Z+ 0001
—t 0L ZFPEE
L |
4 W+ 038 1#09
p TO0Z/EEET [
_ _ _ | 1 L 1L | _
_ I Il ..\\ .;/, I
S (2 e = D e T e -
o e %
= — T I |
| ! T I I I _
SFOvLL
VIgoIsuy A VBURZUT 008 IN 181
7 0007
¢+ 000
1951
¥ 000L
=F 0L SFPEE
509 TEEL EEEr =09
0002
JL | : : [l

| % I
@D ﬁ_¢_||g|_|.¢.-_-.%+ 4 imU -
1 | Il I %

....... |I —_

mwv_lm ........

_ I

SOviy

008 N [lBL




RAL-RG 620

¥ 65T

JopugeBzjasiny Jn SNepjusISCld 0} 'L N II81

(454

SnepjUS}Sold 00°LUN 8L

=09

isines s *A'3 usjuedzNYIS|YEIS Yeyosulpwebang
AL 0FZIN [I3L g
02| -pugg =
00°L "IN 121 usnepjuslsold mr_wm. Mw.mﬂsmo:wwpﬁm
Lo I N BUoZ
NIWDIZZALOD
“BLF .._.E.m.v UOA 3¥oIpuusN
aure pun %T W/ Z UOA SH2IGUUSH 3U[2 JNE UDIS uayaizag
15001 N3 NIQ YoBU sapueg USJULIOUSA JUIIU Sap UaZueta|o |
re
= ﬁ | =g
[ :
- i } N
g _ _ P
(P ! ,
o - i
| _ "
| J
A S s [
T T i T h ﬁ " "
| S g | | | i &y
_ Pl s L L
: i f F — | |
1 T 1 1 I |
— A "
] ;o | [ i |
| ] - A T R
_ | u, et 1 1 _ [ 1
| L A
ﬂ | ﬁ I I . i I
| T | | i
| _ I T - 1
| B B A i
i I 1 i : I 1
I 6 | 1 I 1 i
[ i | T T
i | b s I ! 1l B |
1 1 1 1 | | | | ! fen H !
o 1 | 1 1 1 > 1 | I L o+ : i i
= 1 . | 1 1 | [ I | ! X 1
< 1 | 1 1 1 1 | 1 | o 1 !
Bl 0 - AT | - -
| | - | I A — <x o
. T
g | || SN N R . | < [Pt 2
=] I . 1 | ] _ I 1 = 1 |1 | .wu “ “ | ! =4
I | N . ol | _ 2
v h TIII. S e |
| | - | P & - - = : =
1 | 1 I I | o | 1 | |
i , i i | i | | - 1 : ! i
|_.||e| I 1 1 - I 1 I 3 1 |
e | i | | [ i I | Py w | | |
S |1 |l | | | I i S 1 : '
b 1 ! 1 1 1 % | I 1 153 I E 1
| 1 1 | | | [ [ | ! 1
I } ! 1 I ] 1 1 1
i _ !

K1.1-401



RAL-RG 620

(wzl) dsa3 Bunyuasqelebey NN (. w /@ uajueldznyasiyels yeyosuswebaing
( V-1Z-LA/LY-NZd
0L/EQ -puBlS; 5
== 7ZLEL ANT ANIC g pun V [yoid usbumjuesqy-4sa3 b
_ﬂ 0ZL-L'PS N BUoZ .

uaiynysne gewsbuuis g jucig

"UBQNEBIYISIBA NZ OLNXZ of Jw pun uazjasnzuls (o1'¢) apeldyonig
W usisoid (£0°E) USISold Jap 8]|sisue Is| £ = assepjuepog 1ag ,

Lo0r
9Ll 9l oL 9LIN oLN /7 000 Bungnelyssianus)sold
1 1 1 1 1 1 1
b 5 Z Z 7
LA Leoy L k
LLZHOLZHILOZLI00EL - =
_ £Y 0%
7 | el _ ze'l P2l eE'L PE'L et 0z
= I l
oLor .lulllllL i
| | _
| |
EEvvETTT X1BU/Pzu3 | _
NS, gﬁ %&"VEA_E
| | | “
|||||||||| —— — —— T _ — — — i c—
uapoqgpsa YO Jeqn 500 = : -
V= u _
oLeL/ooel
L00Y
oL oL 9w 9L oL oL \ Bonk Rijrelipain |
el I ] 1 1 1 1 1 T T .
T T 3T b b :
aLin TE0F | _
LLZHOLZHIOZL002h _
| | | Sﬁ.mr |
ge'L ve'L A gg') 00'g 00'2 002 00'z
I
ot 0¢ .
e T _
N \ = 2N ALINSLINSLINSL2 | SIrNA LN IO NS NGO IINS A \\},_.\} (LI NS LIS\ AIXNA ISP

UepOgRI3 MO J8an 50'0 =

§4.1-120



[

ISO 14001:2015 IS0 9001:2015 OHSAS 18001
RONET RONET YRONET .., y1onn vm YA R
Envir | M t System  Quality Management System &Sufnl:" System | £'200795 81

NPYN 12 92yN SYoPp
EDSP 2.00
RAL mpyn>
92720 NPYND
EURO ET 13 NP NN
JABC TERMINAL
DWNNN PN D)

04-8580778 : 0P 04-8580888 :50 3903001 Yn95 N0 — 138 7.0 1 Nngiwn
E-mail: info@netivey.co.il : V399N MINN www.netivey.co.il




RAL n_N.n_oi/

RAL EDSP 2.0

NovoRail 1.33
Pos. 1.1

F-F(1:25)

750

RAL w.ool\\

RAL 8,00

RAL5.00R— |

5.10L

o
= S — o«
H RAL 10.00
o
I~
J
Pos. 3
RAL 40.30 RAL 40.00
RAL 40.30
2000 2000 1000 1000 1000 1000 1334 1333 1333 Pos. 2
| [ I
12000
BARRIER SYSTEMS GMEH
Dartmunder Str. 8
57234 Wiinsdorf
Gormany
now 19 7190 nY'D n'mo 072 nin
NNy "y oY LSTRTT 1900 7N

Eng. Shmuel Josef

Tomasz Baracz, dipl. ing 7 PA-1053

nnn onon
sl _
NovoRail 1.33 to EDSP 2.0  |"Thmy|jnn 01w ity
| | 141 16/09/2012 ﬁ 01
3 T 5 T 3

I 1




EDSP 2.0

m..y_uoom.o_ul/ \_uow. 1 I/

NovoRail 2.0

75
—

73

2000 2000 1333 1333

1333 2000

2000

12000

RAL 8.00

5.10L

RAL5.00R— | Fﬂ(ﬂw

B
BARRIER SYSTEMS GMBH
Daortmunder Str. 8
57234 Wiinsdorf
Gormany
Oberflache/Surface Allgemeintoleranz/General tolerance Werkstoff/Material
Verzinkt
Bemerkung/Remarks Erstellt durch/Created by | Genehmigt vor/Approved by | Sachnummer/Part number |4
Eng. Shmuel Josef| Tomasz Baracz, dipl. Ing | pA-1040
Titel, Zusakzlicher Titel Dokumentenart/Document
Title, Additional Title
NovoRail 2.0 to EDSP 2.0 8.l AusgEpadatm: ko,
Scale Date of issue
1/1 | 23/02/2012 o0
3 2 1 1



RAL-RG 620

N3IHIISZIL0O

A uayueidzinyos|yels yeyasurpwabang

100 PUBIg

SZI-L'ES IN Byoz

ualynisne gewabuuls v juold

e

~

(o)}

00T
g-g Muyasg V-V BUYos
= Buebiagn 00'e =

[ - e s e : = . ey - =
[~ o'y 00z _ 002 _ 00'z 00'Z 002 _ 00z _

1l

O SN oS NS NS NTINTINSLNL LN LN TN ENLINT IS | ENLNLENS FNLLNTENSZ N | o o N AN o P NS I N F S SN IS AT IS I PS5 S S5 NSI AL F PSS PSS E NS IINL I

m | |

I i
I
i

A aNS L

i 4
AN L NP NS e m O P P N PN N VPN U PRI ON

=




i -3 1 ] $ 3 1 > i 4

—————e  To ABC Terminal ]

RAL020.10 ABC-3
or W»roNa.ooA/ ABCE

0.75

3.00 0.7 1.3 3.00

PostNe. 2

Distance between posts and post type
according 10 guardrail system A

4.00 7.00 5.00/5.10 BGS
/ o G i

\l..'lﬂ-ll!lf.l.... \
D\ P
T L =.
D
BARRIER SYSTEMS GMEN
ERsE- O Do .3
T4 Mt edort
Cormany
now 1o Yo ' nhavo avnan
nnpd BT ) Tenx 008 7 a
Eng. Shmuel Josef| Trinity PA-300815
mnn 0onon
a3yn
EDSP guardrail BRI TG Red
1o ABC terminal 171 | 24082015 | 01
3 ] 2 £l




RAL 20.10
or RAL 20.11

0.75

To EURO ET13

1.33/2.00
[

Distance between posts and post type
according to guardrail system

Postno. 7
Guardrail post - RAL 3.00

0.7

F(1:15)

RAL 4.00 Postno. 7
Guardrail post - RAL 3.00
B
7
RAL 40.00
RAL 40.30
Do not bolt the Rail Panel to Post 7 and/or spacer -
BARRIER SYSTEMS GMBH
Dortmunder Str. 8
57234 Wilnsdorl
Germany
now 1o 719w N7 n7ro 072 min
ninvn "y ooy "y TN avonFm fa
Eng. Shmuel Josef| Trinity PA-50716
nane o'onon
~avn
EDSP guardrail 1.33/2.00 AT R [mn v RN g
to EURO ET13 111 06/07/16 01
5 3 1 2 1




& ! 4 $ 3 § > '} 1

B8 ]
H-H(1:15)
i»
o
g {
003.00 | — =
Vi XA
|
_ ?
m 8
I o c
C i
ﬂ_
m_ <
= 3(1:5)
040.00 3
010.00
0000
@\ 05 g
Pos, 46
040,30
| Haotrma st 1
NETIVEY HAMIFRATZ umn. Tim: Camcl
\ Jsrael 2903001
4 ™~ Obpriiiche/Surface | Aligemeiniscranz/Ceneral tcieranoe Werks2oti/izona!
i Y Gaivenizeg ,
] ]
YV N AR A YA EETeTAE = [5oR Gureh/o-caled by | GeneRmGIvONARAVEd by | Sachnummeoran tember |3
A b}\p\ .,M;(, (O\F\Cﬁ\ i SnmuelJose! | Vikior Kuscnes NH-MPS-2005
[Tl Cokumentenart/Documerd
” Title, Additznal Titke
7 (4 | Pis i I EDSF 1.32/2.00 with
L Newvs SMPS BO-2-W3

= 1 ) Y E) y ) T )



RAL-RG 620

NDINVISZINHI S THVLE

"A'@ uadjueldzInyds|yelS BeyssuwebaNg

puemzinyssuojeg abijiasuls sula ue

PO PURIS 8t "IN Bunuyoiaz
m“:_cumr_d\\mcwm._mn_g - n—WOm 0ZL-1'eS N BuYoz 66 45-11 Bojeuy
N3H213Z3.L09
T L'E¥L 168 INOQ PUN §°85E Z#2E JQ 1@YdaIZiNyY2g 1ap puelsusbag) isi uompinisuoy aig
uauynysne gewsbuuls v [yold
Loy
=
g 0¥ Gasula
WAu NBY|2ZUIZ |!. . yeuiezug Bunppgsnepug Bunysiziep puemzinyosuojag
cHX oL ] Trzr/aret T i o
UBIYOGaA ] | i | €70,
+ ~ : \ S0ED | d
NN DN | BN vavv&u_yov\\ww NN SN W .
fIA .- e ek ) | d
a L S ST N L |
5 | _ B e _ L
I . =) T | |+ _ __ L
— - ~ - B e ! e \ ] o
00°€ & i o N o |® P ol %
3 o o @ |2 7 N £ = _, _ 8 =2 2
L0L-1'18 = w1
<IN ‘Buyoz Bysis i 4 _ - .._ % |+“ .,..._.p | A
BUNQne.yasIap “ “ - 1 ,_
Tois /1 (d)o0s L L
L ien 82’0 820 / o /
L04-1"1E N “Buyaz aysis LOL-1'28 “IN ‘Bugoz ayals
Bungnesyosiaauaisoly Sungreayossap
-9 BIUYdS 44 Buyag I BuYes d-a yuyog 0-0 BlUYS 9-g Bluyog V-V Buyos
_ , il
| 00Z/00°F 00z | 09 | |
i o= _ .
_ u__ &T“*Tiwwﬂw“‘ 3 T T T (3 T T T ESSSESS I
: 2 -
_. oo'e um 9L°ZL/GLEL _
| 9021 /50°2L
4= =] 056
I o _ = | e = 101-1°L8 IN ‘Buuoz ayais
| o P n . ] C 3 @ Bunqne.yosIBAgIolS
L _ = V| _
| _
— |
.i V== _

00'y

wijoH Z Bunyussqy

00'% 00'v |

§3.1-120



Zeichnung N 2

TL-SP 99

1 S

i ]
=Le Sandg LAET L 30U w 2Tuaudfus re w
z sM o Susg D LT WY iwIBay 4 & o _
at- ~Pem - rs 8T emeuDine TN Butnmpyus - ]

Sce w3l Sucunzag. 3

I et i ) T3 e
i

=
LN TL N LrNALINLSLLNT LSl 25 P DS D o N s S S N P

—_—
1 - ] | i i . T ~

¢ . | | | ~ ||

- P o PO ot g By o - - | Za 14

[ e St et I T T TR T

I \_PlZ Sur-ueos0t iuew

: s %

;.r- LW SunILegIETIuo,, - \...
LE O wl\m — deste=
o' -

e e ot N

\;)/Vvﬁvav.\\Y/\\V&E\v//\\\Y/Y\\va\\vr/Y\Vr/u\\\X YNNI

T |

p bl | e s e T T PTG S S e T 1 ” .__

T e e e e e —— b . 2

_ i B R




